6/5/2019

Large Image Popup On Great Plains Industries, Inc.

Herbicide
Series P-120H & i|

P-200H 12-Volt
Plastic Utility

Pumps
I
\I\_-
ltem No.
No. | Part No. Description Req’d.
1| 904003-92 | Sems Screw, 5/16-18 x7/8in. . 2
2| 1180211 fandle-— o o 1
3| 1180231 Handle Grip_........_.._.._ ... y
4| 904002-24 | Sems Screw, 5/16-18 x 3/4 in. ...._....
51 115016-1 Power Cord Assy, 15ft. (P-120H) ... .. !
110215-1 Power Cord Assy, 15 ft. (P-200H) ... . g
6 | 904001-99 | Pan HD Screw, 8-32 x 5/16 in
7| 119077-2 Switch Coverplate ...
8 | 902002-91 ROCKe WGz e e e e e i
9| 119002-17 | Motor Assembly, 12-volt DC (P-120H) ... 1
119002-18 | Motor Assembly, 12-volt DC (P-200H) ... .. 1
10 | 906001-67 | Planetary Gear Module (P-200H) .................... 1
11 | 1185051 Drive Shaft Kit ... . 1
11A | 901001-91 Motor Adapter Seal or (Kit @Y)...._........._._ . 1
11B | 904003-70 | Motor Shaft Washeror (Kit &%) ... . 1
11C | 110078-8 Motor Shaft Seal or (Kit @) ___________________________ 1
11D | 118020-1 Bearing or (Kit Q) __________________________________________ 2
16 | 118006-1 PumpHousing ... .. ... 1
18-A | 118507-1 Bypass Poppet Assy Kit (P-120) 4-in 1
118508-1 Bypass Poppet Assy Kit (P-200H) 4-in. ........... 1
18-B | 118508-2 Bypass Poppet Assy Kit (P-120H/P-200H)
2N 1
19 | 118501-1 Gear Kit (P-120H) 1
118502-1 Gear Kit (P-200H) 1
19-A | 110913-2 T 1
20 | 110063-2 Inlet Strainer.._______...______. 1
21 | 118017-1 Coverplate O-Ring 1
22 | 118007-1 Coverplale s e oo s wmnries sesinsrmes 1
23 | 904003-49 | Sems Screw, 1/4-20x1in. 6
24 | 110189-2 EPDM Hose, 1in.x 12 ft_ (optional)_..__..__.._____. 1
29 | 901002-38 | Inlet O-Ring_..._..._ . 1
30 | 115018-5 Lower Cover Assy, 2-in. ... 1

Kits and Accessories

110527-1 Battery Clamp Kit

111502-2 Herbicide Hose & Nozzle Kit (includes 1in. x 12 ft. (3.7 m)
EPDM Hose, Ball Valve Nozzle & Adjustable Suction Pipe)
118503-1 Overhaul Kit (P-120H) (includes Coverplate O-Ring, Motor

Shaft Seal, Motor Adapter Seal, Inlet O-Ring, Camplug
0O-Ring, Bypass Poppet O-Ring, Plunger O-Ring, Key &

No. | Part No. Description
3 904003-91 | Sems Screw, 1/4-20 x3/4in. ...
32 115090-5 Bung Adapter Assy
32-A | 114029-2 EPDM Gasket ...
32-C | 115085-1 Jelon® Gaskels o oo e e
32-D | 115084-1 EPDM Gasket ... . 1
33 110100-2 Adjustable Suction Pipe (optional) ... y
34 118100-1 Inlet Module Assembly, 4 in. ...
34-A | 901002-38 | Inlet O-Ring ... . 1
34-B | 115542-3 Spin Collar Kit withKnobs_.._..__________________ 1
35 904003-91 | Sems Screw, 1/4-20 x 34 in.
36 115500-4 Bung Adapter Assy, 4 in. ...
36-A | 901002-11 | O-Ring..............
36-B | 115547-1 Teflon® Gasket ...
36-C | 115509-2 EPDM Gasket ... ..
ar 110107-2 Discharge Nozzle (optional) ... \

Items Not Shown
Sems Screw, 8-32 x 11/16 in. (P-200H)
Shaft Adapter (P-120H)

P-120 Shaft Adapter

904003-50
118016-1
118016-1

118506-1 Seal Kit (includes Coverplate O-Ring, Motor Shaft Seal, Mot
Adapter Seal, Inlet O-Ring, Camplug O-Ring, Poppet O-Rin
& Plunger O-Ring)

118509-1 4-in_ Inlet Fitting to Convert 2-in. Pump to 4-in.

118509-3 2-in_ Inlet Fitting to Convert 4-in. Pump to 2-in.

119052-1 Armature Assy (P-120H)

A1ANRI_T Armatira Acowu (P_20NHN

catalog.gpi.net/image?categid=1097&prodid=1444&imgname=P-120H_P-200H_exploded_view.jpg&plpver=1001 1/2


javascript:window.close();

6/5/2019 Large Image Popup On Great Plains Industries, Inc.
2 \sears) rUume o ooy U euuny
€ 118504-1 Overhaul Kit (P-200H) 119063-2 Brush Holder Assy
118505-1 Drive ShaftKit (includes 2 Bearings, Motor Shaft Seal, Motor
Shaft Washer, Drive Shaft Assembly & Motor Adapter Seal)

catalog.gpi.net/image?categid=1097&prodid=1444&imgname=P-120H_P-200H_exploded_view.jpg&plpver=1001 2/2


javascript:window.close();

